Quiz # 5 (semester 111) – Stat_212-03 

NAME:                                                                            ID #:                                 Serial #:
The following table contains the number of complaints received in a department store for the first 6 months of last year.



Month
Complaints

January

36


February
45


March

81


April

90


May

108


June

144

1. If a three-term moving average is used to smooth this series, what would be the second calculated term?

2. If a three-term moving average is used to smooth this series, what would be the last calculated term?

3. If a three-term moving average is used to smooth this series, how many terms would it have?
4. If this series is smoothed using exponential smoothing with a smoothing constant of 1/3, how many terms would it have?

Given below are the prices of a basket of four food items from 1996 to 2000.

	Year
	Wheat($/Bushel)
	Corn($/Bushel)
	Soybeans($/Bushel)
	Milk($/hundredweight)

	1996
	4.25
	3.71
	7.41
	15.03

	1997
	3.43
	2.7
	7.55
	13.63

	1998
	2.63
	2.3
	6.05
	15.18

	1999
	2.11
	1.97
	4.68
	14.72

	2000
	2.16
	1.9
	4.81
	12.32


5. What are the simple price indexes for wheat, corn, soybeans and milk, respectively, in 2000 using 1996 as the base year?

6. What is the unweighted aggregate price index for the basket of four food items in 1999 using 1996 as the base year?

7. Wwhat is the Paasche price index for the basket of four food items in 2000 that consisted of 40 bushels of wheat, 50 bushels of corn, 35 bushels of soybeans and 60 hundredweight of milk in 2000 using 1996 as the base year?

8. What is the Laspeyres price index for the basket of four food items in 2000 that consisted of 50 bushels of wheat, 30 bushels of corn, 40 bushels of soybeans and 80 hundredweight of milk in 1996 using 1996 as the base year?

